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Function03 Answers for No.9589

Ansl .1 > red
.2 > blue
.3 > green
.4 > black
.5 > yellow
.6 > gray
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) -infinity,infinity) -infinity,infinity) |
.3 (- 1nf1n1ty, ) (- 1nf1n1ty, ) (=16, infinity) (-infinity,49)
.4 (5,0),(9,0) | (-1,0) (-6,0),(2,0) (=7,0),(7,0) |
.5 | (7,4) | (-1,0) (-2, -16) (0, 49) |
.6 | MaXLmum | Max1mum Minimum Maximum |
.7 max = 4 | max = 0 min = -16 max = 49 |
_1=[ AreaS(x)zx2 }_
' AreaR=x (x+7)
~ ~ 1 = [Income(x) = (4000 + 200 x) (100 — x)] 3=120
Ansé:[J ‘2“: (?5)02)(05000125%3096]))6]}’ Ans7 = 2= {6800, 17200} . Ans8 = 4=7
- LTS 3=[12000, 720000] 5_[AS:121}
4R =198
L 6=[f(x)=Tx] |
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Function03 Answers for No.9707

Ansl .1 > blue
.2 > black
.3 > yellow
.4 > gray
.5 > green
.6 > red
ans | 2 o 3 . 4 o s
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,0) | (- 1nf1n1ty, ) (-1,infinity) | (- 1nf1n1ty, )
.4 (7,0) | (4,0),(8,0) | (3,0),(5,0) | (=7,0),(=5,0) |
.5 (7,0) | (6,4) | (4, -1) | (-6,1) |
.6 | Maximum | Max1mum | Minimum | Max1mum |
.7 max = 0 | max = 4 | min = -1 | max = 1 |
I =[ AreaS(x)zx2
AreaR =x (x + 8)
3 3 1 =[Income(x) = (6000 + 500 x) (130 —x)] .3=180
Ansé:[J ‘[2P£x[)350((3)80458650’]c)x]}, Ans7 = 2= {11500, 59500} . Ans8 = 4=12
- e 3=[35500, 2520500] 5_[AS:121}
~L4R =209
L .6=[f(x)=8x]
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Function03 Answers for No.9821

Ansl .1 > blue
.2 > gray
.3 > red
.4 > yellow
.5 > black
.6 > green
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-1,infinity) | (- 1nf1n1ty, ) (=25,infinity) | (-infinity, 36)
.4 (6,0),(8,0) | (-3,0) | (-2,0),(8,0) | (=7,0),(5,0) |
.5 (7, —1) | (-3,0) | (3, —25) | (-1, 36) |
.6 | Minimum | Max1mum | Minimum | Maximum |
.7 min = -1 | max = 0 | min = =25 | max = 36 |
i =[ AreaS(x) =
' AreaR=x (x+7)
3 3 1 =[Income(x) = (5000 + 500 x) (130 —x)] .3=78
Ans6 = ['1 - [2P£x[?214(§(9)032?473)]c) x]l Ans7 = .2 = {16000, 54000 } , Ans8 = 4=8
- Leimed 3 =[35000, 2450000] s _[AS: 100}
~ AR =170
L 6=[f(x)=7x]
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Function03 Answers for No.10352

Ansl .1 > green
.2 > blue
.3 > yellow
.4 > red
.5 > black
.6 > gray
ans | 2 o 3 . 1 o s
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (0, 1nf1n1ty) | (-=4,infinity) | (- lnflnlty, ) (- 1nf1n1ty, )
-4 (=2,0) | (=4,0),(0,0) | (4,0), (6,0) | (20)( 0) |
-5 (=2,0) | (-2, —4) | (5,1) | 9) |
.6 | Mlnlmum | Minimum | Max1mum | Max1mum |
.7 min = 0 | min = -4 | max = 1 | max = 9 |
_I=[ AreaS(x)=x I
' AreaR=x (x+11)
1 =[P(x)=(600—04x)x] 1 =[Income(x) = (4000 +200x) (100 —x)] 3=42
Ans6 = 2=[750.00, 2250001 , Ans7 = .2={7000, 17000 } , Ans8 = 4=10
- LIRS 3 =[12000, 720000] 5_[AS=36}
4R =102
L o=[f(x)=11x]
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Function03 Answers for No.10380

Ansl .1 > red
.2 > gray
.3 > blue
.4 > black
.5 > yellow
.6 > green
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,16) | (-1,infinity) | (=49, infinity) | (0, 1nf1n1ty)
.4 (-1,0), (7,0) | (4,0), (6,0) | (-6,0),(8,0) | (-9,0) |
.5 (3, 16) | (5, —1) | (1, —49) | (-9,0)
.6 | Maximum | Minimum | Minimum | Mlnlmum |
.7 max = 16 | min = -1 | min = -49 | min = 0 |
i =[ AreaS(x)zx2
' AreaR=x (x+7)
3 3 1 =[Income(x) = (6000 + 500 x) (110 —x)] 3=8
Ansé:[J ‘Z[f (["1)156(220402';2"]}, Ans7 = 2= {15500, 45500} . Ans8 = 4=9
- o7 3=[30500, 1860500] 5_[AS=36}
4R =78
L 6=[f(x)=7x]
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Function03 Answers for No.10412

Ansl .1 > blue
.2 > black
.3 > green
.4 > yellow
.5 > red
.6 > gray
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (- 1nf1n1ty, ) (- 1nf1n1ty, ) (-1, 1nf1n1ty) | (-infinity, 36)
.4 (30)( 0) | (=7,0) | (-4,0),(-2,0) | (=5,0),(7,0) |
.5 | (=1,4) | (=7,0) | (- 3 -1) | (1, 36) |
.6 | MaXLmum | Max1mum | Minimum | Maximum |
.7 max = 4 | max = 0 | min = -1 | max = 36 |
_1=[ AreaS(x)zx2
" ldreaR=x(x+9)
3 3 1 =[Income(x) = (6000 + 200 x) (100 —x)] 3=112
Ansé:[J ‘Bpfﬁégﬁgoggggé’f)x]} Ans7 = 2= {8000, 18000} . Ans8 = 4=4
— L2 3=[13000, 845000] 5_[AS=36}
= L4R =90
L 6=[f(x)=9x]
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Function03 Answers for No.10487

Ansl .1 > yellow
.2 > green
.3 > gray
.4 > black
.5 > blue
.6 > red
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (- 1nf1n1ty, ) (- 1nf1n1ty, ) (- lnflnlty, ) (=4, infinity) |
.4 (2,0),(8,0) | (5,0) | (3,0),(5,0) | (0,0), (4,0) |
.5 | (5,9) | (5,0) | (4,1) | (2, -4) |
.6 | MaXLmum | Max1mum | Max1mum | Minimum |
.7 max = 9 | max = 0 | max = 1 | min = -4 |
_I=[ AreaS(x)zx2 I
"~ |AreaR =x (x+10)
B B 1 =[Income(x) = (6000 + 500 x) (100 —x)] .3=231
Ans6=['] ‘[ZPE’“[)SEO((3)80758630’]C)X]}, Ans7 = .2 = {13000, 43000} . Ans8 = 4=11
- LTS 3 =[28000, 15680001 5_[AS:100}
4R =200
L .6=[f(x)=10x] |
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Function03 Answers for No.10644

Ansl .1 > red
.2 > black
.3 > blue
.4 > yellow
.5 > gray
.6 > green
ans | 2 o 3 . 4 o 5
2 | (-infinity,infinity) | (-infinity,infinity) | infinity,infinity) | -infinity,infinity) |
.3 (-infinity,25) | (- 1nf1n1ty, ) (-infinity,0) | (=9, infinity) |
.4 (-2,0),(8,0) | (=3,0), (-1,0) | (-9,0) | (=5,0),(1,0) |
5 | (3, 25) | (=2,1) | (-9,0) | (-2, —9)
6 | Maximum | Max1mum | Maximum | Minimum |
7 max = 25 | max = 1 | max = 0 | min = -9 |
_1=[ AreaS(x)zx2 }_
' AreaR =x (x+2)
~ ~ 1 = [Income(x) = (4000 + 200 x) (120 — x)] 3=63
Ans6=[1 ‘BPE’C[)z&)((z)gozogbso’]c)x]}, Ans7 = 2= {6400, 21600} . AnsS = 4=10
- LA 3 =[14000, 980000] 5_[AS=64}
"~ AR =280
L 6=[f(x)=2x]
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Function03 Answers for No.11101

Ansl .1 > red
.2 > green
.3 > black
.4 > gray
.5 > blue
.6 > yellow
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,81) | (- 1nf1n1ty, ) (- lnflnlty, ) (=49, infinity) |
.4 (=9,0),(9,0) | (6,0) | (30)( 0) | (=7,0),(7,0) |
.5 (0, 81) | (6,0) | (=1,4) | (0, -49) |
.6 | Maximum | Max1mum | Max1mum | Minimum |
.7 max = 81 | max = 0 | max = 4 | min = -49 |
_1 [ AreaS(x) = X’ }_
' AreaR=x (x+11)
3 3 1 =[Income(x) = (3000 + 300 x) (90 —x)] .3=80
Ansé:[J ‘[2P£x[)3;5((3)8056§'5‘:)’]c)x]}, Ans7 = 2= {6900, 23100} . Ans8 = 4=7
— L2/ 3 =[15000, 750000] 5_[AS=36}
4R =102
L 6=[f(x)=11x]
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Function03 Answers for No.11613

Ansl .1 > black
.2 > gray
.3 > green
.4 > yellow
.5 > red
.6 > blue
ans | 2 o 3 . 4 o 5
2 | -infinity,infinity) | (-infinity,infinity) | -infinity,infinity) | -infinity,infinity) |
.3 (-1, 1nflnlty) | (- 1nf1n1ty, ) (-=16,infinity) | (-infinity, 36)
.4 (-4,0), (-2,0) | (-6,0) | (=3,0),(5,0) | (-6,0),(6,0) |
5 (- 3 -1) | (-6,0) | (1, -16) | (0, 36) |
6 | Minimum | Max1mum | Minimum | Maximum |
7 min = -1 | max = 0 | min = -16 | max = 36 |
i =[ AreaS(x)=x2
" |AreaR=x(x+6)
B B 1 =[Income(x) = (6000 + 200 x) (90 —x)] .3=40
Ans6=['] ‘2[%(?;5‘0(06000225%30’6])x]}, Ans7 = 2= {9800, 14200} . Ans8 = 4=7
— LB 3 =[12000, 720000] 5_[/15:121}
4R =187
L 6=[f(x)=6x]
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Function03 Answers for No.11720

Ansl .1 > red
.2 > gray
.3 > yellow
.4 > green
.5 > blue
.6 > black
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | infinity,infinity) | -infinity,infinity) |
.3 (=9,infinity) | (-infinity,36) | (-infinity,0) | (-=1,infinity)
.4 (-2,0), (4,0) | (=5,0),(7,0) | (-2,0) | (2,0), (4,0) |
.5 (1, -9) | (1, 36) | (-2,0) | (3, -1) |
.6 | Minimum | Maximum | Maximum | Minimum |
.7 min = -9 | max = 36 | max = 0 | min = -1 |
_1=[ AreaS(x)zx2 }_
' AreaR =x (x +5)
3 3 I =[Income(x) = (6000 + 500 x) (100 —x)] 3=104
Ans6=[1_[I;(f)[;l(igoﬁgf]x)x]}, Ans7 = .2= {11000, 45000 } , Ans8 = 4=3
SLEE 3 =[28000, 1568000] 5_[AS:9}
4R =24
L 6=[f(x)=5x]
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Function03 Answers for No.12122

Ansl .1 > yellow
.2 > blue
.3 > black
.4 > green
.5 > gray
.6 > red
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,25) | (=36,infinity) | (-infinity,25) | (0, 1nf1n1ty)
.4 (-2,0),(8,0) | (-6,0),(6,0) | (-8,0),(2,0) | (-4,0) |
.5 (3, 25) | (0, —36) | (-3, 25) | (-4,0) |
.6 | Maximum | Minimum | Maximum | Mlnlmum |
.7 max = 25 | min = -36 | max = 25 | min = 0 |
i =[ AreaS(x)zx2
' AreaR =x (x +4)
~ ~ 1 = [Income(x) = (4000 + 400 x) (130 — x)] 3=96
Ans6=[1 ‘gpfizaéggogogbso’]c)x]}, Ans7 = 2 = {10400, 45600 } . Ans8 = 4=9
B R 3 =128000, 1960000 ] 5_[AS=36}
“L4R =60
L 6=[f(x)=4x]
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Function03 Answers for No.12133

Ansl .1 > green
.2 > gray
.3 > blue
.4 > red
.5 > black
.6 > yellow
ans | 2 o 3 . 4 o s
.20 -infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-16,infinity) | (-infinity,25) | (=36,infinity) | (0, 1nf1n1ty)
.4 (=7,0),(1,0) | (-4,0),(6,0) | (-8,0),(4,0) | (-1,0) |
.5 (-3, —16) | (1, 25) | (-2, —36) | (-1,0) |
.6 | Minimum | Maximum | Minimum | Mlnlmum |
.7 min = -16 | max = 25 | min = -36 | min = 0 |
| ] =[ AreaS(x) =x
" |AreaR=x(x+5)
3 3 1 =[Income(x) = (6000 + 300 x) (90 —x)] .3=36
Ans6=['] ‘2[%(?5)0‘0(07000175%30’6])x]}, Ans7 = 2= {11400, 21600} . Ans8 = 4=4
- e 3=[16500, 907500] 5_[/15:144}
7 L4R =204
L .6=[f(x)=5x]
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Function03 Answers for No.12317

Ansl .1 > yellow
.2 > black
.3 > blue
.4 > gray
.5 > red
.6 > green
ans | 2 o 3 . 4 o 5
.20 -infinity,infinity) | (-infinity,infinity) | -infinity,infinity) | -infinity,infinity) |
.3 (0, 1nflnlty) | (-infinity,16) | (=4,infinity) | (-infinity,16)
.4 (-1,0) | (-6,0),(2,0) | (1,0),(5,0) | (1,0),(9,0) |
.5 | (-1,0) | (-2, 16) | (3, -4) | (5, 16) |
.6 | Mlnlmum | Maximum | Minimum | Maximum |
.7 min = 0 | max = 16 | min = -4 | max = 16 |
| =[ AreaS(x)=x"
' AreaR=x (x+4)
B B 1 =[Income(x) = (4000 + 500 x) (70 —x)] 3=177
Ans6=['] ‘[ZPE’“[)3;5(38056§'5‘;’]C)X]}, Ans7 = 2= {14500, 24500} . Ans8 = 4=11
= L2/ 3=[19500, 760500] 5_[AS:49}
4R =77
L 6=[f(x)=4x]
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Function03 Answers for No.12380

Ansl .1 > green
.2 > black
.3 > red
.4 > yellow
.5 > blue
.6 > gray
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) -infinity,infinity) -infinity,infinity) |
.3 (=9,infinity) | (- 1nf1n1ty, ) (=16, infinity) (-infinity,49)
.4 (-2,0), (4,0) | (-9,0) (-5,0),(3,0) (-6,0),(8,0) |
.5 | (1, -9) | (-9,0) (-1, -16) (1, 49) |
.6 | Minimum | Max1mum Minimum Maximum |
.7 min = -9 | max = 0 min = -16 max = 49 |
_1=[ AreaS(x)zx2 }_
' AreaR =x (x +3)
3 3 1 =[Income(x)=(3000+ 500 x) (130 —x)] 3=154
Ansé:[J ‘[2P£x[)2;0((3)80372660’]6)x]}, Ans7 = 2= {13000, 55000} . Ans8 = 4=6
- L% 3 =[34000, 2312000] 5_[AS:9}
4R =18
L 6=[f(x)=3x]

X [Page = 0015] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXKXKKKX KKK KKK KKK KKKKX XX KKKX KKK KKK KKK KKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK XXX KKK KKK KKK KKK XXX KKK KKXXKKXXKXKXKXMS/2-6600403-00016XX
Function03 Answers for No.12554

X

Ansl .1 > red
.2 > gray
.3 > black
.4 > yellow
.5 > green
.6 > blue
ans | 2 o 3 . 4 o 5
.20 -infinity,infinity) | (-infinity,infinity) | infinity,infinity) | -infinity,infinity) |
.3 (=49,infinity) | (-16,infinity) | (-infinity,0) | (-infinity,16)
.4 (-8,0),(6,0) | (0,0),(8,0) | (-4,0) | (-6,0),(2,0) |
.5 (-1, —49) | (4, —16) | (-4,0) | (-2, 16)
.6 | Minimum | Minimum | Maximum | Maximum |
.7 min = -49 | min = -16 | max = 0 | max = 16 |
_I=[ AreaS(x)=x2 I
" |AreaR=x (x+3)
3 3 1 =[Income(x) = (7000 + 500 x) (70 —x)] .3=130
Ans6=['] _2[I:(EC5)0_0(0600015 O%SOX])X]}, Ans7 = 2= {12500, 29500} . Ans8 = 4=10
- LOVEE 3=[21000, 882000] 5_[AS=169}
4R =208
L 6=[f(x)=3x]
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X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXKXX XXX XXX XKXX XXX XXX KKK KKK KKK KKK KKK XXX KKK KKK KKK XXX XXX KKK XXX KKXXKXKXKXMS /2-6600403-00017XX
Function03 Answers for No.12836

Ansl .1 > yellow
.2 > blue
.3 > red
.4 > black
.5 > gray
.6 > green
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,0) | (- 1nf1n1ty, ) (-1, 1nf1n1ty) | (-infinity, 36)
.4 (3,0) | (-1,0), (5,0) | (=5,0), (=3,0) | (-4,0),(8,0) |
.5 | (3,0) | (2,9) | (-4, -1) | (2, 36) |
.6 | Maximum | Max1mum | Minimum | Maximum |
.7 max = 0 | max = 9 | min = -1 | max = 36 |
_I=[ AreaS(x)=x I
' AreaR=x (x+11)
B B 1 =[Income(x) = (6000 + 600 x) (110 —x)] .3=180
Ans6=['] ‘Z[E([xl)zgo(ggo“g'szog;x]}, Ans7 = .2 = {14400, 57600} . Ans8 = 4=13
- B 3 =[36000, 2160000 ] 5_[AS:144}
4R =276
L 6=[f(x)=11x] |

X [Page = 0017] XXXXXXXXXXXXXXXXXXKXXXXXKXKXXXXKKKXXXKXKXKXXXKKKXKKXXKKKKKXKKKKX KX KKKXKX KX KKK KKK KKKK KX KKK KKK KKK KKK KKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK XXX KKK KKK KKK XXX XXX KKK KKXXKKXXKXKXXMS /2-6600403-00018XX
Function03 Answers for No.12959

X

Ansl .1 > yellow
.2 > blue
.3 > gray
.4 > red
.5 > green
.6 > black
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | infinity,infinity) | -infinity,infinity) |
.3 (-infinity,64) | (-1,infinity) | (-infinity,0) | (-4, 1nf1n1ty) |
.4 (-8,0),(8,0) | (-1,0), (1,0) | (-6,0) | (=7,0),(=3,0) |
.5 (0, 64) | (0, -1) | (-6,0) | (= 5 -4) |
.6 | Maximum | Minimum | Maximum | Minimum |
.7 max = 64 | min = -1 | max = 0 | min = -4 |
_1=[ AreaS(x)zx2 }_
' AreaR=x (x+1)
3 3 1 =[Income(x) = (5000 + 500 x) (100 —x)] 3=2
Ansé:[J ‘Z[f (["1)156(220402';2"]}, Ans7 = .2 = {16000, 39000} . Ans8 = 4=3
- o0 3=1[27500, 1512500] 5_[AS=81}
4R =90
L 6=[f(x)=x] i

[Page = 0018]

),0:9:9,0:9:9.0:9:9.0:9:9.0:9:9.0:9:9,0:9.:9.0:9.:9,0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9.0:9:9.0,9:9.0,9:9.0,9:9.0:9:9,0:9:9.0:0:9.0.9:9.0,9:9.0,9:9.0:9:9.0:9:9.0,9.:9.0,0:9.0,9:9.0,9:9.0:9:9.0.9.:9.0,0.:9.0,0:¢




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXKXKXXXXXXKXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KEXXKKXXKXKXXMS /2-6600403-00019XX
Function03 Answers for No.12967

Ansl .1 > black
.2 > blue
.3 > gray
.4 > yellow
.5 > green
.6 > red
ans | 2 o 3 . 4 0 s
.2 | (-infinity,infinity) (-infinity,infinity) (-infinity,infinity) (-infinity,infinity) |
.3 (- 1nf1n1ty, ) (- 1nf1n1ty, ) (=4, infinity) (-infinity,0) |
-4 (6,0),(8,0) (3,0), (7,0) (=1,0),(3,0) (4,0) |
B (7,1) (5,4) (1, -4) (4,0) |
.6 | MaXLmum Max1mum Minimum Maximum |
L7 max = 1 max = 4 min = -4 max = 0 |
_1=[ AreaS(x)zx2 }_
' AreaR =x (x+2)
1 =[P(x) = (400 = 0.1 x) x] 1 =[Income(x)=(4000+200x) (110 —x)] 3=8
Ans6 = 2 =[2000.00, 400000] Ans7 = 2= {6800, 19200 } , Ans8 = 4=10
- S 3=[13000, 845000] 5_[AS:144}
7 4R =168
L 6=[f(x)=2x]

X [Page = 0019] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKKXXXKXKXKXXXKKKXKXXXKKKKXXKKKKXKXKKKX KKK KKK KX KKKKX KX KKK KKK KKK KX KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK XXX KKK KKK KKK KKK KKK KKK KKK XKXXKXKXKXMS /2-6600403-00020XX
Function03 Answers for No.12975

Ansl .1 > green
.2 > yellow
.3 > blue
.4 > gray
.5 > black
.6 > red
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-16,infinity) | (- 1nf1n1ty, ) (-infinity,25) | (-infinity, 0)
.4 (=7,0),(1,0) | (-2,0), (4,0) | (-8,0),(2,0) | (-9,0) |
.5 (-3, —16) | (1,9) | (-3, 25) | (=9,0) |
.6 | Minimum | Max1mum | Maximum | Maximum |
.7 min = -16 | max = 9 | max = 25 | max = 0 |
_1=[ AreaS(x)zx2 }_
' AreaR=x (x+9)
3 3 1 =[Income(x) = (5000 + 500 x) (120 —x)] .3=220
Ansé:[J ‘2“: (E‘7)5‘0(03000” 295'50’6])’“]}, Ans7 = .2 = {16000, 49000 } . Ans8 = 4=9
- LV 3=[32500,2112500] 5_[AS:144}
“L4R =252
L 6=[f(x)=9x]

X [Page = 0020] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKXKXXXKXKXKXXXKKKXKKXXKKKKKXKKKKX XX KKK KK KKK KKK KKKK XX KKK KKK KKK KKK KKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XKXXKXKXXMS/2-6600403-00021XX
Function03 Answers for No.12979

Ansl .1 > gray
.2 > green
.3 > blue
.4 > black
.5 > yellow
.6 > red
ans | 2 o 3 . 1 o s
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,25) | (- 1nf1n1ty, ) (=36,infinity) | (-infinity,0) |
-4 (=3,0),(7,0) | (5,0),(9,0) | (=7,0),(5,0) | (=3,0) |
B (2, 25) | (7,4) | (-1, -36) | (=3,0) |
.6 | Maximum | Max1mum | Minimum | Maximum |
.7 max = 25 | max = 4 | min = -36 | max = 0 |
_I=[ AreaS(x)=x" I
" |AreaR=x(x+6)
1 =[P(x) = (400 — 0.2 x) x] 1 =[Income(x)=(3000+ 500 x) (90 —x)] 3=27
Ans6 = 2 =[1000.00, 200000] ) Ans7 = .2=1{9500, 38500 } , Ans8 = 4=12
- Y 3 =[24000, 1152000] 5_[/15:121}
“L4R =187
L 6=[f(x)=6x] |

X [Page = 0021] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKKXKXXXKXKXKXXXKKKXKKXKKKKKXKKKKX XX KKK KX KKK KKK KKKK KX KKK KKK KKK KK KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXKXXXKXXXXX XXX XXX XXX XXX XXX KKK XXX KKK KKK KKK XXX KKK KKK KKK KKK KKK KKK XXX XKXXKXKXKXMS /2-6600403-00022XX
Function03 Answers for No.13010

Ansl .1 > blue
.2 > red
.3 > green
.4 > gray
.5 > yellow
.6 > black
ans | 2 o 3 . 1 o s
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,25) | (- 1nf1n1ty, ) (-=16,infinity) | (=64, infinity)
-4 (=5,0),(5,0) | (6,0) | (0,0),(8,0) | (=7,0),(9,0) |
S5 (0, 25) | (6,0) | (4, -16) | (1, -64) |
6 | Maximum | Max1mum | Minimum | Minimum |
7 max = 25 | max = 0 | min = -16 | min = -64 |
_I=[ AreaS(x)=x" I
" |AreaR=x(x+9)
B B I =[Income(x) = (4000 + 500 x) (80 —x)] .3=190
Ans6=[']‘[ZPE"[)zgo(égolzg(‘)zo’]‘)x]}, Ans7 = 2= {13000, 31000} . AnsS = 4=12
- LR 3 =[22000, 968000] 5_[AS:49}
T l4R=112
L 6=[f(x)=9x]

0022]
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X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK XXX KKK KKK KKK XXX KKK KKK KKK XXX XXX KKK XXX XKXXKXKXKXMS /2-6600403-00023XX
Function03 Answers for No.13020

Ansl .1 > yellow
.2 > gray
.3 > red
.4 > Dblue
.5 > black
.6 > green
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) (-infinity,infinity) (-infinity,infinity) (-infinity,infinity) |
.3 (-36,infinity) (-=36,infinity) (- lnflnlty, ) (-infinity, 0)
.4 (-4,0),(8,0) (-5,0),(7,0) (4,0), (6,0) (9,0) |
.5 (2, —36) (1, —36) (5,1) (9,0) |
.6 | Minimum Minimum Max1mum Maximum |
.7 min = -36 min = -36 max = 1 max = 0 |
_1=[ AreaS(x)zx2 }_
' AreaR =x (x +3)
1= [P(x)= (400 — 02 x) x] 1 =[Income(x) = (6000 + 600 x) (100 —x)] 3=288
Ans6 = 2= [1000.00, 200000] , Ans7 = .2=1{13200, 52800 } , Ans8 = 4=4
- Y 3=[33000, 1815000] 5_[AS=169}
4R =208
L 6=[f(x)=3x]

X [Page = 0023] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXKKKKXXXKXKXKXXXKKKXKXXKKKKKXKKKKX XX KKK KX KKKK KX KKKK KX KKK KKK KKK KX KKKK KX KKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXXXKXXXKX XKL XXX XKLL XKL XKL LKL KKK LXK LXK XXX KKK K KKKKKKKKKMS /2-6600403-00024XX

X

Function03 Answers for No.13028

Ansl .1 > black
.2 > red
.3 > green
.4 > gray
.5 > yellow
.6 > blue
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,16) | (-=4,infinity) | (0, 1nf1n1ty) | (- 1nf1n1ty, )
.4 (=5,0),(3,0) | (3,0),(7,0) | (=7,0) | (20)( 0) |
.5 | (-1, 16) | (5, —4) | (=7,0) | 1) |
.6 | Maximum | Minimum | Mlnlmum | Max1mum |
.7 max = 16 | min = -4 | min = 0 | max = 1 |
I =[ AreaS(x)zx2
AreaR =x (x +4)
I =[P(x)=(500—0.1 x)x] 1 =[Income(x)=(6000+300x) (110 —-x)] 3=12
Ans6 =" 5500.00, 6250001 b 417 = 2= {9300, 29700} , Ans8= 4=3
- o 3=[19500, 1267500] 5_[AS=81}
4R =117
L 6=[f(x)=4x]
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXXKXXXKXXXKX XXX XXX XKLL XKL XKL LKL KKK LXK KKK KKK KKK X KKKKKKKKKMS /2-6600403-00025XX

X

Function03 Answers for No.13068

AreaS(x) =x

reaR=x(x+7)
.3=120
A4=12

_[AS=81}
“LAR =144

Ansl .1 > red
.2 > blue
.3 > gray
.4 > black
.5 > yellow
.6 > green
Ans | 2 | 3 | 4 | 5 |
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,0) | (- 1nf1n1ty, ) (=4,infinity) | (-1, 1nf1n1ty)
.4 (=7,0) | (0,0), (4,0) | (-1,0),(3,0) | (-3,0),(-1,0) |
.5 | (=7,0) | (2,4) | (1, -4) | (-2, -1) |
.6 | Maximum | Max1mum | Minimum | Minimum |
.7 max = 0 | max = 4 | min = -4 | min = -1 |
o
A
1 =[Income(x) = (6000 + 600 110 -
1 =[P(x)=(400—0.2x)x] [ (x)=( ) ( *)]
Ans6 = 2= [1000.00, 200000] , Ans7 = .2 = {18600, 53400 } , Ans8 =
B B 3 =1[36000, 2160000 ] 5
L 6=
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[f(x)=7x]

}_
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X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXKXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK XXX KKK KKK KKK XXX KKK KKK KEXXXKXXKXKXKXMS /2-6600403-00026XX
Function03 Answers for No.13086

Ansl .1 > yellow
.2 > green
.3 > gray
.4 > red
.5 > blue
.6 > black
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,0) | (-infinity,16) | (=4,infinity) | (=9, infinity)
.4 (-6,0) | (=5,0),(3,0) | (4,0),(8,0) | (-1,0),(5,0) |
.5 (-6,0) | (-1, 16) | (6, -4) | (2, -9) |
.6 | Maximum | Maximum | Minimum | Minimum |
.7 max = 0 | max = 16 | min = -4 | min = -9 |
_1=[ AreaS(x)zx2 }_
' AreaR =x (x+2)
3 3 1 =[Income(x)= (7000 + 500 x) (130 —x)] 3=8
Ansé:[J ‘Z[f (["1)7;0((7)80612'5208"]}, Ans7 = 2= {12500, 59500} . Ans8 = 4=10
- A 3 =[36000, 2592000] 5_[AS:144}
“L4R =168
L 6=[f(x)=2x]
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXXXXXXXXKX XXX XXX KX KKXL XKL LKL KKK LKL LXK KKK KKK KKK K KKKKKKKKKMS /2-6600403-00027XX

X

Function03 Answers for No.13111

Ansl .1 > green
.2 > gray
.3 > yellow
.4 > black
.5 > red
.6 > blue
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (- 1nf1n1ty, ) (- 1nf1n1ty, ) (0, 1nf1n1ty) | (=4, infinity) |
.4 (0,0),(4,0) | (30)( 0) | (-4,0) | (1,0),(5,0) |
.5 | (2,4) | (-1,4) | (-4,0) | (3, -4) |
.6 | MaXLmum | Max1mum | Mlnlmum | Minimum |
.7 max = 4 | max = 4 | min = 0 | min = -4 |
_I=[ AreaS(x)=x2
" |AreaR=x (x+3)
B B 1 =[Income(x) = (4000 + 400 x) (90 —x)] 3=18
Ans6=['] ‘[ZPE’“[)3;5(38056§'5‘;’]C)X]}, Ans7 = 2= {8800, 31200} . Ans8 = 4=3
— L2255 3 =[20000, 1000000 ] 5_[/15:121}
4R =154
L .6=[f(x)=3x]

[Page 0027]

}_

),0:9:9,0:9:9.0:9:9.0:9:9.0:9:9.0:9:9,0:9.:9.0:9.:9,0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9.0:9:9.0,9:9.0,9:9.0,9:9.0:9:9,0:9:9.0:0:9.0.9:9.0,9:9.0,9:9.0:9:9.0:9:9.0,9.:9.0,0:9.0,9:9.0,9:9.0:9:9.0.9.:9.0,0.:9.0,0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXKX XXX XXX XKLL XKL XKL LKL KKK LXK KKK KKK KKK K KKKKKKKKKMS /2-6600403-00028XX

X

Function03 Answers for No.13116

Ansl .1 > gray
.2 > yellow
.3 > green
.4 > black
.5 > blue
.6 > red
ans | 2 o 3 . 4 o s
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-36,infinity) | (- 1nf1n1ty, ) (0, 1nf1n1ty) | (-infinity, 64)
.4 (-4,0),(8,0) | (=3,0),(3,0) | (9,0) | (-8,0),(8,0) |
.5 (2, —36) | (0,9) | (9,0) | (0, 64) |
.6 | Minimum | Max1mum | Minlmum | Maximum |
.7 min = -36 | max = 9 | min = 0 | max = 64 |
_1=[ AreaS(x)zx2
' AreaR=x (x+7)
3 3 1 =[Income(x)=(3000+300x) (120 —x)] 3=144
Ansé:[J ‘[2P£x[)2;0((3)80372660’]6)x]}, Ans7 = 2= {6600, 32400} . Ans8 = 4=6
- e 3=[19500, 1267500] 5_[AS:144}
4R =228
L 6=[f(x)=7x]
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X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXKXXXKX XKL KKK XKLL XKL LKL KKK XKL LXK LXK X KKX KKK X KKKKKKKKKMS /2-6600403-00029XX

X

Function03 Answers for No.13122

Ansl .1 > gray
.2 > green
.3 > black
.4 > yellow
.5 > blue
.6 > red
ans | 2 o 3 . 1 o s
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-=4,infinity) | (0, lnflnlty) | (- lnflnlty, ) (-4, 1nf1n1ty) |
-4 (2,0), (6,0) | (=8,0) | (=3,0),(3,0) | (=6,0), (=2,0) |
-5 (4, —4) | (-8,0) | (0,9) | (-4, —4) |
.6 | Minimum | Mlnlmum | Max1mum | Minimum |
.7 min = -4 | min = 0 | max = 9 | min = -4 |
_1=[ AreaS(x)zx2
' AreaR=x (x+1)
1 =[P(x) = (400 — 0.2 x) x] 1 =[Income(x) = (4000 + 400 x) (130 —x)] 3=72
Ans6 = 2=[1000.00, 200000] Ans7 = .2={12400, 43600 } , Ans8 = 4=12
- Y 3 =[28000, 1960000 ] 5_[AS=169}
4R =182
L 6=[f(x)=x]
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Function03 Answers for No.13123

Ansl .1 > gray
.2 > green
.3 > blue
.4 > red
.5 > black
.6 > yellow
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) -infinity,infinity) -infinity,infinity) |
.3 (0, 1nf1n1ty) | (- 1nf1n1ty, ) (=36, infinity) (=16,infinity)
.4 (-2,0) | (1,0),(7,0) (-8,0),(4,0) (-4,0),(4,0) |
.5 | (-2,0) | (4,9) (-2, -36) (0, -16) |
.6 | Mlnlmum | Max1mum Minimum Minimum |
.7 min = 0 | max = 9 min = -36 min = =16 |
_1=[ AreaS(x)zx2 }_
' AreaR =x (x +3)
3 3 I =[Income(x) = (5000 + 500 x) (110 —x)] 3=154
Ansé:[J ‘2[f(["1)1g6(z(7)0402'3¥;x]}, Ans7 = 2= {15500, 44500} . Ans8 = 4=7
B R 3 =130000, 1800000 ] 5_[AS=36}
4R =54
L 6=[f(x)=3x]
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Function03 Answers for No.13126

Ansl .1 > gray
.2 > blue
.3 > yellow
.4 > black
.5 > red
.6 > green
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (- 1nf1n1ty, ) (-1,infinity) | (-infinity,16) | (-infinity, 0)
.4 (=7,0), (-1,0) | (-2,0),(0,0) | (-4,0),(4,0) | (9,0) |
.5 (-4,9) | (-1, —1) | (0, 16) | (9,0)
.6 | MaXLmum | Minimum | Maximum | Maximum |
.7 max = 9 | min = -1 | max = 16 | max = 0 |
_I=[ AreaS(x)=x2 I
" |AreaR=x (x+38)
1 =[P(x)=(600—0.3x)x] 1 =[Income(x) = (4000 + 500 x) (70 —x)] 3=180
Ans6 = 2 =[1000.00, 300000] , Ans7 = .2 =1{12000, 27000 } , Ans8 = 4=7
- . 3 =[19500, 760500] 5_[/15:100}
"~ AR =180
L o=[f(x)=8x] |

0031]
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X

Function03 Answers for No.13421

Ansl .1 > black
.2 > gray
.3 > yellow
.4 > green
.5 > blue
.6 > red
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (=9,infinity) | (- 1nf1n1ty, ) (- lnflnlty, ) (-infinity,16)
.4 (=5,0),(1,0) | (=5,0) | (2,0),(6,0) | (0,0),(8,0) |
.5 | (-2, -9) | (=5,0) | (4,4) | (4, 16) |
.6 | Minimum | Max1mum | Max1mum | Maximum |
.7 min = -9 | max = 0 | max = 4 | max = 16 |
I =[ AreaS(x)=x
' AreaR =x (x +6)
3 3 1 =[Income(x) = (6000 + 500 x) (120 —x)] 3=27
Ansé:[J ‘Z[f (["1)156(220402';2"]}, Ans7 = .2 = {14000, 52000} . Ans8 = 4=10
- D7 3=[33000, 2178000] 5_[AS:121}
“L4R =187
L 6=[f(x)=6x]
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Function03 Answers for No.13646

Ansl .1 > gray
.2 > green
.3 > yellow
.4 > black
.5 > blue
.6 > red
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (0, 1nf1n1ty) | (- 1nf1n1ty, ) (-infinity,16) | (-1, 1nf1n1ty)
.4 (9,0) | (-1,0), (5,0) | (=7,0),(1,0) | (=7,0),(=5,0) |
.5 | (9,0) | (2,9) | (316)| (6-1)|
.6 | Minlmum | Max1mum | Maximum | Minimum |
.7 min = 0 | max = 9 | max = 16 | min = -1 |
_I=[ AreaS(x)zx2 I
' AreaR=x (x+11)
B B I =[Income(x) = (4000 + 500 x) (120 —x)] .3 =80
Ans6=['] - 2[%(32;(5670012805‘;1’“])x]}, Ans7 = 2= {15000, 49000 } . AnsS = 4=3
- LFeS2 0 3 =[32000, 2048000 5_[AS:100}
4R =210
L 6=[f(x)=11x] |
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Function03 Answers for No.13862

Ansl .1 > red
.2 > gray
.3 > yellow
.4 > blue
.5 > black
.6 > green
ans | 2 o 3 . 4 o 5
2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-=4,infinity) | (- 1nf1n1ty, ) (0, 1nf1n1ty) | (- 1nf1n1ty, )
.4 (3,0),(7,0) | (=5,0), (-1,0) | (1,0) | (-8,0), (-6,0) |
5 | (5, —4) | (=3,4) | (1,0) | (=7,1) |
6 | Minimum | Max1mum | Minlmum | Max1mum |
7 min = -4 | max = 4 | min = 0 | max = 1 |
_I=[ AreaS(x)=x2 I
" lAreaR=x(x+9)
B B 1 =[Income(x) = (3000 + 500 x) (90 —x)] .3=170
Ans6=['] _[zpfx[)sao((l)gozsgbl();)xq’ Ans7 = .2 = {9000, 39000} . Ans8 = 4=3
B ehas 3 =[24000, 1152000] 5_[AS=36}
“L4R=90
L 6=[f(x)=9x]
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Function03 Answers for No.13943

X

Ansl .1 > black
.2 > yellow
.3 > green
.4 > gray
.5 > blue
.6 > red
ans | 2 o 3 . 4 o 5
.20 -infinity,infinity) | (-infinity,infinity) | infinity,infinity) | -infinity,infinity) |
.3 (-infinity,16) | (-4, lnflnlty) | (-infinity,0) | (- 1nf1n1ty, )
.4 (-4,0), (4,0) | (=7,0),(=3,0) | (-3,0) | (5,0), ( 0) |
.5 (0, 16) | (- 5 —4) | (-3,0) | 4) |
.6 | Maximum | Minimum | Maximum | Max1mum |
.7 max = 16 | min = -4 | max = 0 | max = 4 |
_I=[ AreaS(x)=x2 I
' AreaR=x(x+1)
~ ~ I = [Income(x) = (4000 + 400 x) (80 —x) | 3=132
Ans6=['] - 2[[:(?;5_0(0300011205'50’?x]}, Ans7 = 2= {9600, 26400 } . AnsS = 4=3
— LB 3 =[18000, 810000] 5_[/15:100}
= L4r=110
L O=[f(x)=x] i
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Function03 Answers for No.13968

Ansl .1 > black
.2 > blue
.3 > green
.4 > yellow
.5 > red
.6 > gray
ans | 2 o 3 . 4 o 5
2 | (-infinity,infinity) (-infinity,infinity) (-infinity,infinity) (-infinity,infinity) |
.3 (- 1nf1n1ty, ) (-infinity,49) (=4, infinity) (-infinity, 0)
.4 (=7,0),(=-3,0) (-6,0),(8,0) (1,0),(5,0) (=5,0) |
5 (=5,4) (1, 49) (3, -4) (=5,0) |
6 | MaXLmum Maximum Minimum Maximum |
7 max = 4 max = 49 min = -4 max = 0 |
_1 [ AreaS(x) = X’ }_
' AreaR=x (x+11)
3 3 1 =[Income(x) = (6000 + 600 x) (70 —x)] .3=80
Ansé:[J ‘2“: (EC6)2‘5(0500015 602';‘0’6])’“]}, Ans7 = 2= {15600, 32400} . Ans8 = 4=12
B R 3 =124000, 960000 ] 5_[AS=36}
4R =102
L 6=[f(x)=11x]
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Function03 Answers for No.14006

Ansl .1 > blue
.2 > yellow
.3 > red
.4 > black
.5 > gray
.6 > green
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-1,infinity) | (- 1nf1n1ty, ) (-infinity,9) | (0, 1nf1n1ty) |
4 (3,0),(5,0) | (~8,0), (~4,0) | (=7,0), (=1,0) | (=2,0) |
.5 | (4, —1) | (-6,4) | (-4,9) | (-2,0) |
.6 | Minimum | Max1mum | Maximum | Mlnlmum |
.7 min = -1 | max = 4 | max = 9 | min = 0 |
| ] =[ AreaS(x) =x
' AreaR=x(x+1)
3 3 1 =[Income(x) = (3000 + 300 x) (80 —x)] .3=110
Ans6=['] _[zpfx[)zgo(égozsgbi);)xq’ Ans7 = 2= {8400, 18600} . Ans8 = 4=3
= LV 3=[13500, 607500] 5_[AS=64}
T l4R=72
L O=[f(x)=x]
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X

Function03 Answers for No.14022

Ansl .1 > red
.2 > blue
.3 > yellow
.4 > gray
.5 > green
.6 > black
ans | 2 o 3 . 4 o 5
.2 | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) | (-infinity,infinity) |
.3 (-infinity,36) | (=9,infinity) | (-infinity,25) | (0, 1nf1n1ty)
.4 (-6,0),(6,0) | (-4,0),(2,0) | (-2,0),(8,0) | ( 0) |
.5 | (0, 36) | (-1, —9) | (3, 25) | 0) |
.6 | Maximum | Minimum | Maximum | Mlnlmum |
.7 max = 36 | min = -9 | max = 25 | min = 0 |
i =[ AreaS(x)zx2
' AreaR =x (x+2)
3 3 1 =[Income(x) = (6000 + 600 x) (100 —x)] .3=63
Ansé:[J ‘2“: (E‘§7‘5(07()0()30 602';‘0’6])’“]}, Ans7 = 2= {16800, 49200} . Ans8 = 4=5
— L8255 3=[33000, 1815000] 5_[AS:121}
" LAR =143
L 6=[f(x)=2x]

[Page 0038]

}_

),0:9:9,0:9:9.0:9:9.0:9:9.0:9:9.0:9:9,0:9.:9.0:9.:9,0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9.0:9:9.0,9:9.0,9:9.0,9:9.0:9:9,0:9:9.0:0:9.0.9:9.0,9:9.0,9:9.0:9:9.0:9:9.0,9.:9.0,0:9.0,9:9.0,9:9.0:9:9.0.9.:9.0,0.:9.0,0:¢



| XXXXKXKXKKKKKKKXKXKXKXKXKXKXKXKXXXXXXXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX XXX XXX XXX KKK KKK KKK KK KKK KKK KKK KKK KKK KKK KKK KKK KKKKKK
L >



